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Abstract

The aim of this study was to investigate and
clarify the effects on obstetrical factors and
safety of both mothers and neonates caused by
the free-style delivery technique. 667 cases of
free-style delivery and 546 cases of usual birth
at the E City Hospital were included in this
study. 79.1% of the free-style deliveries were in
the lateral position. Compared with the usual
delivery group, the free-style delivery group
had significantly lower incidences of Cesarean
section, induced labor, accelerated labor, artificial
rupture of the membranes and episiotomy,
and had significantly more incidences of
prolonged second stage of labor and perineal
laceration. There was significantly more amount
of hemorrhage in the fourth stage of labor
and significantly lower puerperal hemoglobin
as compared with the usual delivery group.
Although there was no significant difference, the
free-style delivery group had a higher frequency
of severe neonatal asphyxia. These might be the
problems associated with the free-style delivery
technique. For safe future diffuse of this
technique. it is recommended to be provided
in institutions in which medical intervention is
available immediately in case of severe neonatal
asphyxia and massive intrapartum hemorrhage.
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